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Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 40 pages including this front page, containing 200 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice

any discrepancy.
2. Answers will have to be given in the Special Answer-Sheet supplied for the purpose.

3. Before you proceed to mark in the Answer-Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the Answer-Sheet as per instructions sent to you in the
Admit Card. Do not fold the Answer-Sheet as this will result in error in your marks.

ot ]

All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
~ (C) and (D) against each question. Find out which of the four answers appears to be correct or
A T darken the circle corresponding to the letter of the selected answer in the

w%heﬂ with Black Ball Point Pen as per instructions printed on the reverse of the

L
4

and only one circle is to be fully blackened for answer. Any spot in any other circ
ol rong circle will be considered as wr ns
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1. “I have done my duty.”—Which tense is
this?
(A) Present Indefinite
(B) Present Perfect
(C) Past Perfect
(D) Past Indefinite

2. Find the synonym of ‘Covert’.
(A) Revert
(B) Secret
(C) Desert
(D) HOHG.‘.S[ At iy

3. What is the most appropriate passive form
of “Who has done the work?”?

(A) Who has been done the work?
(B) By whom has been done the work?
(C) Whom has done the work by?
(D) By whom has the work been done?

4. What parts of speechis the word ‘ Adjective’?
(A) Pronoun
(B) Noun
(C) Adjective
(D) Adverb

F
¥

S. Find the correctly spelt word,
(A) Reharsal
(B) Rehersal
(C) Rehearsal
(D) Rehearsel

B-2

8. Instead of ‘tolerance’ we can say
(A) bear on
(B) bear in
(C) bear with
(D) bear at

9. What type of sentence is ‘Do or Die’?
(A) Simple
(B) Complex
(C) Exclamatory
(D) Compound

10. What is the synonym of ‘Atrocity’?
(A) Solidarity
(B) Pity
(C) Cruelty
(D) Punctuality

1. The antonym of ‘Forgo’ is
(A) Claim
(B) Despise
(C) Undergo
(D) Remember

12. The idiomatic expression
wrist’ means

(A) Short on time
(B) A very mild pumshment
(C) ‘To have a dispute

(D) To force an issue

‘A slap on the
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26. The radioactive element used in heart-
pacemakers is

(A) Uranium
(B) Deuterium
(C) Plutonium
(D) Radium

27. Which of the following isotopes is used in
dating archaeological findings?

235 U

14
B ] {
()60

3

(C) H

1

18
(@)

(D) :

- 28. West Bengal Industrial Development
b 2 Corporation Ltd. (WBIDC) was established in

B (A)1967.

()

N ©) 1977

B-4

/zﬁ%‘{mm (I COBTER BAMI gy
=27 ?

(A) TN

(B) GAGEAN

(C) IR

(D) cEfea

27. dweifes SAMER T W9 FH0e @i
REIIe TIRIT B 2 2
235
&) g9 Y
14,

@

© fH

18
0}

(D) ;

28. ST (3T LIRS (OreT#IS ST
e (WBIDC) Zifste 27

(A) 1967 e
(B) 1981 e

(©) 1977 e
(D) 1983 AT
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‘Which of the following pair do not
(A) Jaunpur — Atala Masjid
(B) Malwa — Jahaz Mahal

(C) Ajmer — Kubbatul Islam
(D) Gaur — Bara Sona Masjid

match?

Who is the present Chairman of UPSC?
(A) Manoj Soni

(B) Arvind Saxena

(C) Vinay Mittal

(D) P. K. Joshi

33. The S:élf-rcspect Movement was founded
Ambedkar
Periyar E. V. Ramasamy Naicker
Dinkarrao Javalkar
eshavrao Jedhe

SBP/22

32, 3% 3t @1 B3 TS (GHIOIA (P2
(A) AT @l
(B) SRR ACH!
(©) ez e
D) . & @

33, ST SR 2SS 2
(A) SICIMEE A
(B) coifsa= 2. fS. s FiRwics @l
(ORIEEEEN R CERIGERIE ;
(D) GRS (& FAl

b Kol ‘ j'.:.;‘_k't; ':.f.\' )

o VBTHE 30 30A sesy’] wirosmo ¥ el bal.

34. Wﬁﬁﬂw wﬁ;ﬁgﬁa ACEE .
’(A‘)ﬁwﬁ " o 45 h Ry :
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36. As of 2022, which country is the biggest
Op1um producer?
(A) China
(B) India
(C) Afghanistan
(D) Nepal

37. Who painted the image of Bharat Mata?
(A) Rabindranath Tagore
(B) Abanindranath Tagore
(C) Bankim Chandra Chattopadhyay
(D) Mahatma Gandhi

38. Loktak lake is located in the state of
(A) Karnataka
(B) Arunachal Pradesh
(C) Manipur
(D) Bihar

-' 390 Who among the following Viceroys |

repealed the Vernacular Press Act of 18787

9%) Lord

B-6

36. 2022 SN (0 T2G SHRE B g
(Ganiink:
(A) B
(B) ©IT®
(C) wEshifesi
(D) A=

37. ‘Sigesel’s Baf (& S&Fd FCaz ?
(A) T S
(B) SR I
(C) &b BIGIAGE
(D) =l i

38. CTIROIS b I ACE oS 2
(A) 36
(B) SRFDE o
(©) ez
(D) f==

Y. RS siRvmRem o & 1878
GO EITE SR (Vernacular Press Act) A

@ W’ﬁﬁ’“ oA
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46. Match the following:
(a) Kot Diji 1. Luigi Pio Tessitori
(b) Harappa 2. F.A. Khan, G.S. Ghurye
(c) Kalibangan 3. Daya Ram Sahani
(d) Mohenjodaro 4. Rakhal Das Bandyopadhyay
(A) (a-2), (b-3), (c-1), (d-4)
(B) (a-1), (b-3), (c-2), (d-4)
(©) (a-4), (b-1), (c-2), (d-3)
(D) (a-3), (b-2), (c-4), (d-1)

47. In a chess tournament each of six players
will play every other player exactly once. How
many matches will be played in the tournament?

(A) 12
(B) 15
(©) 20
(D) 72

48. If Water is called Black, Black is called
Tree, Tree is called Blue, Blue is called Rain, Rain
1s called Pink and Pink is called Fish in a certain
language, then what is the colour of sky?

(A) Blue
(B) Rain
(C) Fish
(D) Pink

49. Who is the current Chief of the Army Staff
of India?
(A) General Upendra Dwivedi
(B) General Manoj Pande
(C) Generzal Rana Pratap Kalita
(D) General Surinder Singh Mahal

50. ‘Peaty’ soils of Kerala is known as
(A) Reh
(B) Kari
(C) Kallar
(D) Thur

46. (T (&I &

(a) 5 fafer 1. =201 e cofireify
(b) 28l 2. GF. Q. A, f&. @, gy
(c) Fifera=ia 3. VIR AR

(d) SEGmiTe! 4., WA ICaiengy

(A) (a-2), (b-3), (c-1), (d-4)
(B) (a-1), (b-3), (c-2), (d-4)
(C) (a-4), (b-1), (c-2), (d-3)
(D) (a-3), (b-2), (c-4), (d-1)

47. TG G0 Al 2SRRI 2o =iy
21T ATOIE CATETRICYS HCH (FIET G GFAIE (s
At | €3 eferifarerm Foafe (4= 2032

(A) 12
(B) 15
(C) 30
(D) 72

48. (FICTl S Water-F 9¢a1 Black, Black-@
0= Tree, Tree-(F Blue, Blue-(& Rain, Rain-@
Pink, Pink-(= Fish 9051 < ‘colour of the sky’-@
62 S I 9 2

(A) Blue
(B) Rain
(C) Fish
(D) Pink

49. WW%‘@WWW@P
(A) (G Srole g
(B) (&It NI #Aits
(C) @It el eoiet i 5!
(D) &I e 12 gy

0. GRI A e R i Ao
(A) &2
(B) <vifs
(C) =

(D) &



'51. Whatisthe percentage of 3¢
BB excluded f.rom' 40 metre ¢lg
remaining portion is 7 metre?

(A) 17-5
(B) 19
(C) 825
(D) 81

loth that should
th 5o that the

i; The Himalayas are formed of paralle] fold
 ranges, of which the oldest range is
(A) the Siwalik Range
~ (B) the Lesser Himalayan Range
- (©) the Great Himalayan Range
(D) the Dhaula Dhar Range

Fill in the blank:

*

S birth anniversary
elebrated this year, 2022.

g SBP/22
51. 40 fib Premgs Mo o AT T e
7 RO plefG “Aet T ?
(A) 175
(B) 19
(C) 825
(D) 81

52. R @ FESH e (SEEE)
sfeceid Fiw el @7 Ty @ AFerEn
SN ?

(A) Pifere oiforfa
(B) wafzsera sifor=ifd
(C) feuify si<forxfa

(D) A=Y ASor=id

53. eIfere @R O SRS @3
=S (2022) T T 20 |
(A) 100
(B) 102
(C) 101
(D) 103

54, IFSEHI TN w&w’mﬂwaww
&?

(A) eae vy
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56. Earliest evidence of settled agriculture in
the subcontinent comes from
(A) Utnur
(B) Burzahom
(C) Mehrgarh
(D) Bagor

S7. If CABLEiscoded as XYZOV,then YZXP
is code of

(A) BABY
(B) BACK
(C) CELL
(D) BELL

58. Who has become the second Indian to score
10,000 runs in T-20 cricket? ]

(A) KL Rahul

(B) Shikhar Dhawan
(C) Rohit Sharma
(D) M S Dhoni

59. There are 15 chairs in arow. Position of P is
atthe middle. Qis at 12th position counting from the
right. How many chairs are in between P and Q?

(A) 4 '

B) 5

B-10

56, SIASR G ST ebtRe fany
I ergard (A e (R

(A) O

(B) ISR

(C) GIZATC

(D) aME

. 57. fi CABLE~43 TS XYZOV 7,

O YZXP A A OHA(A ?
(A) BABY e A
(B) BACK
(C) CELL
(D) BELL

58. f5-20 f&Feees i faei S 10,000 A
IERARA? '
(A) (F 9o T2
(B) = e
(C) @iz =it
(D) @ @ cHif

59. @3 AfHr 150 o Sz | P-ag w<EH
0% TR | O (R (st 2 Q-9F TFH
129 | P 938 Q-9 M 51110 (5aie =it 2

(A) 4
(B) 5
(C) 2
(D) 3



}; 61. Which would come in place of *? in the
E‘veﬂ series?

ACE, FGH, ?, PON

(A) KKK

(B) JKI

(C) HH

(D) IKL

| 62 Who was felicitated by Aurobindo Ghosh
; ‘the Prophet of Great Political Creed’?

(A) Brahmabandhab Upadhyay
(B) Ashwini Kumar Dutta

(C) Rashbehari Bose

(D) Bipin Chandra Pal

3. Which of the following is an aquatic fern?
(A) Adiantum
(B) Dryopteris
(C) Salvinia
(D) Equisetum

SBP/22
B-11

61. =G =@ P 3
ACE, FGH, ?, PON
(A) KKK
(B) JKI

(C) HIH
(D) IKL

Prophet of 2 Great

. 62. SE@faw @F e ‘the
R EREED

Political Creed’ (Goof T2 AG AP I

63. FiERiR® D SeTe e 2
(A) STIfCEG (Adiantum)
(B) QISR (Dryopreris)
(C) U= (Salvinia)
(D) 2FEEON (Equisetum)

(A) SRR
(B) Zﬁ‘%w
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66. Which state is known as the ‘Molassis
basin’?
(A) Bihar
(B) Rajasthan
(C) Mizoram
(D) Assam

67. For the purpose of legislation, education is
enlisted in the

(A) Union List

(B) State List

(C) Concurrent List
(D) None of the above

68. ‘Loringa’ mangrove is located in
(A) Gujarat
(B) Kerala
(C) Odisha
(D) Andhra Pradesh

69. Who wrote Humayunnamah?
- (A) Gulbadan Begum

(B) Humayun

(C) Birbal
(D) Abul Fazl

ng the following In j
i IS A

66. @ arenfo ‘Molassis basin’ I Affoe,
(A) 2T
(B) AMEZI
(C) farre=is
(D) RIS

67, SIPe 2t B T S Wie
(A) FEE Sfferd
(B) Arey Sifersld

68. <IfE’ WA i SaES ?
(A) @TF0
(B) A=t
(C) efexit
(D) Sizefom=!
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76. D GE-oI7 TS i FRATCE (reA! SR |

76. A number series is given with one wrong

term. Identify the wrong term given: 2@ e e G- b FF 8
SISO 63 B 6 /| S350 4163 0 67 il
(A)E53 i i (A) 53
(B) 63 . (B) 63
(© 67 (C) 67
D) 71 (D) 71

A TR SR

: 77. The Act that g gave enormous powers. e 77. I R R TP AG A TSP P
British Government to repress political activities o] AN DA Toe| A %e ? .
 (A) ArmsAct () (A) S w2

- (B) Vemacular Press Act (B) S 2 <13

(C) Rowlatt Act (C) e =

Otz | ©) R, 15

78. S fGofaim uwE e @ 2

| @ e

R M
G i

o] Bl fem e
Shi) lan
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86. Whatis' the chromosome nui
ovum?

J-j_-gjil_ 36

i\ﬁ_-:_fi 1 46

(C) 48

(D) None of the above

87. ‘Seahorse’ is a

(A) Mammal

(B) Plant

(C) Fish

(D) None of the above

88. i'z':e.w' iest {E’@ngdi r@"“m%:@ of archaic |

Homo
'ff_”ﬂ ley B)
uj» 'ra}_:»_'l hills @ Emmwii%m@
) CRiBHIstel AT
ﬁﬁfb @ (1 =2 I‘C;ML uman Rights (
-

3] -q IR ‘egmam““ 2= ?
: i X - (A) (AT

= LRl B) @& FARERE
(C) Fft

(A 2*\. 13 a







u\} L‘I\f w@
(B) Gamma rays
{L) XCTa Y SEE

97. When was the ‘C
(A) 190
(B) 1901
(©) 1902
(D) 1906

98. Which one of the following s not correctly
matched?
?j \j NH-2—D
(B) NE FEZ’@:DI@IFJ
*’(fcﬁ) H-41—Kolaghat-Haldia
NH-3 L@amc@mf@%

%o:m the Guardian of the Public Purse in

(A) The President of fﬁrﬁm

(B) The Union Finance Minister

(C) The Comptroller & Auditor General
of India

(D) The Public Accounts Committee

|l-.r |-|Il

oy EP R & R Y e S I e P
Securities and ExXchange Bank of Tnd

96. @ aff TR =& azlal ol 2
(A) 5! ©IEiED (SfewRef) af
(B) sttt sifel
(C) 9F-afx
(D) 2AEIC (S€EEs) afd

97. PrefiRe AFA FCI i 2 2
- (A) 1905
(B) 1901
(©) 1o
(D) 1906

98. fAsfe IA(G M A elarey 77 2
(A) TIOETEE 78 2—wiE-F=rere!
(B) ISIPTSS A 35—aaiTe-aesl
(C) EISTRIGS 7% 41—CHIeATS(5- el
(D) SISRFLS 7 34—ERT-5T16

100. SEBI-€3 #[cal S 251
(A) State Earnings Board of India
(B) Securities and liﬁimjmm}@@ﬂﬁk@j;-;5 o

(C) Securities and Exchang ve Board of

India

Ty Ceren

(1) Nt ,
J

L

) otate Exchange Bank of India







107, EaT .::“'-.-l"Jl...u --'[b,_g_-'.lFu

¥l

| 4 | e ".dll_._

| ' 5 =
+ 1 Y°TL] =gt

| | D) o AL

V. IS

(C) 196G9 I

(L) | !'" J HITE

- - S|
3 n e
| E - - I
[} ST
e
] T r—
- L gt




111. Who h

o as been appointeq as the new P
Minister of gy Lanka in May, 20229 G

(A) Mahingda Rajapaksa
(B) D. M. Jayaratne

(C) Ranil Wickremesinghe
(D) Sirimaro Bandaranaike

112, Legendary musician Pandit Shiy
Sharma, who passed away recently,
With which of the following instrum

(A) Sitar
(B) Flute
(C) Sarod
(D) Santoor

Kumar
is associated
ents?

113. The ‘powerhouse’ of cell is
(A) Nucleus
(B) Lysosome
(C) Mitochondria
(D) DNA

114. Who was recently appointed as the
Ambassador of India in U.S.?

(A) Varsh Vardhan Singh
(B) Jai Shankar

(C) Taranjit Singh Sandhu
(D) Vijay Gokhale

115. Who built Buland Darwaza?
(A) Humayun
(B) Akbar
(C) Shah Jahan

SBP/22
B-21

IGENG
111, &, 2022-9 (& SrwE T R
Eohd
(A) wfem! ArEorT
(B) f&. €. TFaTw
(C) e e
(D) M TP

112. SiReHFEANCes RRmE A ﬁf@sﬁw
A T& =2 ?
(A) GTo=
(B) i
(C) M
(D) T&d

113. FIES =feT ==
(A) freiEm
(B) eTREIICE
(C) RBga
(D) TGaqq

114. IE & N
e 2@ 2

(A) <9 34 fig
(B) & *i5pq
(C) wadfEe Big iy
(D) e cateee

11s. C et wSAMG foywiie) zfereme o
(A) =g
(B) wisa
(C) ===y

(D) Auran gzib

(D) ST

Please Turn Ovér G
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116. Who used ‘Tulghumah’as a military tactic
for the first time in India?

(A) Alauddin Khilji

(B) Muhammad bin Tughlug
(C) Babur

(D) Akbar

117. Alakananda and Bhagirathi rivers make
confluence at

(A) Dev Prayag

(B) Karna Prayag
(C) Rudra Prayag
(D) Vishnu Prayag

118. ‘Pongol’ is the main festival of
(A) Tamilnadu
(B) Karnataka
(C) Kerala
(D) Andhra Pradesh

119. Bills other than money bills are introduced
for being passed by the Parliament in

(A) Lok Sabha
(B) Rajya Sabha
(C) any House of the Parliament

(D) joint session of both the Houses of the
Parliament

120. If the sequence of alphabets is
which of the following will be the 14th

(A) N
(B) L
© O
(D) M

reversed,
letter?

B-22

3 2, grﬂ'
116, SIS ARET (PP AT GITL 7
(F JAZIA PR ?
(A) SIS fefe
(B) T 4 GITE
(©) I
(D) WA

117. SEri @ e w0 76 fifre 2@
(A) G
(B) st
(C) FmemIat
(D) fazeamics

118. “Coii%et’ a4 Seoa (@ Fireya—
(A) wIfieTIy
(B) o
(C) 3
(D) izt

120. 231f& f1eTr7 ey BREIDSak e
1497 5510 209

(A) N

(B) L

©) 0

(D) M



: L Thee*"‘*Ofl‘"lcio

: Chairman of the RajyaSabh,

(A) the President
(B) the Vice-President

(C) the Prime Minister
(D) None of them

122. Ina 8T0up of cows and hens,
legs are 14 more than twice the nu
How many cows are there?

(A) 7
(B) 12
(©)F5
(D) 10

the number of
mber of heads.

123. The age of father is twice that of elder son.
Ten years hence, the age of the father will be three

times that of the younger son. If the difference of
ages of the two sons is 15 years, find the age of the
father.

(A) 50 years
(B) 55 years
(C) 60 years
(D) 70 years

124. The next term in the sequence 4, 10, 22, 46
18

(A) 56
(B) 66
(C) 94
(D) 92

125. When Gandhi-Irwin Pact was signed?
(A) 1931
(B) 1930
(C) 1932
(D) 1929

e SBP/22
121, FEPTSI @ GAIH 2T

(A) FgHAfe

(B) CRieife

(C) @4i=ial

(D) AR (PER

122. GWa (olIF @ A G A ﬂ%’lﬂg
T2 AT Aol (T 14 @ | colfzee 7R

(A) 7

B) 12

(&) &

(D) 10

123. {ASIF T (S #{0a9 IRETR fazel [ 2
e T T ojas e fonest 2@ | ARG
REE AL 15 T3 201, e Tz et =6 |

(A) 509=7
(B) 55<gd
(C) 60 <=z
(D) 70 <=5

124. 4,10, 22, 46 — & AR 45t 2wl =z
(A) 56
(B) 66
(©) 94
(D) 92

125. WW*W@?E@FW@? ‘
(A) 1931 =
(B) 1930 Hits
(C) 1932 7y
(D) 1929 HitH
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: v ) os] oo (2
126, Who was the firstpresidentof the AllIndia | 126, FR(eITom 7 7O A4
Kisan Sabha? (A) FiE ARGTH T
(A) Swami Sahajanand Saraswati (B) . .
(B) N.G. Ranga (C) Tz TP
(C) Jawaharlal Nehru
Rl I

(D) Jaya Prakash Narayan 1D)) EiRy

127. The western part of Teesta river in West 127. Tow =g #ARos Sieice ARBEc F @ 2
Bengal is called

(A) Terai Eg; ﬁ
(B) Duars

(C) Bagar () SR
(D) Bhabar (D) @lad

128. The Kasai and Keleghai rivers join to form 128. FMI2 8 (FIETgi2 w7id PifeT® 2@ w9
(A) the Rupnarayan river (A) TR 77
(B) the Haldi river

(C) the Sub Lhat (B) == 4l
ubarnarekha river
(D) the Damodar river (C) acfcast
(D) wGITa =%

129. The Sariska Tiger Sanctuary is located at

129. A g SSTRGH @ SAFo—
(A) Bharatpur

(B) Alwar ST

(C) Darrah ) Raie

(D) Puskar (C) il
(D) 71&4

130. Andaman & Nicobar islands are separated

by 130. ST R4 8 (TS R Rt s
. AR
(A) Nine degree Channel A ~f
(B) Ten degree Channel (&) T TSl B
(C) Eight degree Channel * (B) ¥ fef2) Byiterey
(D) Seven degree Channel (C) S e DIt

(D) e fEfa Bige
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Under which article of the Constitution the

o over the administration of a

president can take
State In his own hand?

(A) Article 352
(B) Article 356
(C) Article 351
(D) Article 350

157. The Gupta King who destroyed Sakas was
(A) Samudra Gupta
(B) Chandra Gupta-I
(C) Kumara Gupta
(D) Chandra Gupta-II

158. In a certain code KOLKATA is coded as
11151211012001. How will BENGAL be coded?

(A) 020514070112
(B) 020514210111
(C) 020521250110
(D) 020514200112

159. The first transgenic crop was
(A) Tobacco
(B) Cotton
(C) Pea
(D) Rice

ii‘ llllfl'tjc ;aaia Eﬂﬂgeskar wasawarded BharatRatna
(A) 2000
(B) 2003
(©) 2001
(D) 2005

B-30

156, <RI (I A1 ST Ao o
(A) 352 40
(B) 356 4l
(C) 351 4
(D) 350 4

157. (3 @ FE(6 *Hd RSN Sl oy
ferEm
(A) TESY
(B) 2 b
(©) TN v
(D) faer vared

158. KOLKATA-(® AT feTeitg
11151211012001 (=121 2651, BENGAL-F S (=71
242

(A) 020514070112
(B) 020514210111
(C) 020521250110
(D) 020514200112

159. GRS @oid oo adw =fs 2=
(A) O
(B) el
(C) o
(D) 4%

160. =7 IR (I T804 S0 711 FE 2
(A) 2000
(B) 2003
(C) 2001
(D) 2005



(B) Gandhij;
(© Lala Harday,
(D) Aurobind, Ghosh

162- The fo
series—

ZXYW,VTUS, RPQO
(A) LNKM
(B) NLKM
(C) NLMK
(D) LNMK

urth term of

163. Notuburu iron ore mines are located in
(A) Singhbhum District
(B) Mayurbhanj District
(C) Baster District
(D) Durg District

164. The Vice-President of India is

(A) directly elected by the people.

(B) nominated by the President.

(C) elected by the members of the state
e lectoral college

¥ by an ele

ke s:l:;zziﬂtedyby members of the two

Houses of the Parliament.

5. Which quantity is increased in step-down
165.

transformer?
(A) Voltage

(B) C[l['fﬂﬂt
(© Wattage
(D) Frequencb’

the followin g alphabet

, JHIG

B.31 SBP/22

161. TAGRT 47 TR FCE
(A) =l <
(B) siifEfes
(C) =l Zwae
(D) w&f= carE

162. iea SrEqfay vod oF—
ZXYW, VTUS, RPQO,
(A) LNKM
(B) NLKM
(C) NLMK
(D) LNMK

,JHIG

163. FDEE T2 ST I SRfEe—
(A) Pigga coet
(B) TFeg (ot
(C) IS (el
(D) 7of ceret

164. SITToF SHABoAfS
(&) SRS T erereis Reffow o
(B) MBS 39 e = |

(©) & Ramesafm TRyt
ifoe 2

(D) ieficcta T ey Ao
ﬂﬁ\saﬁﬁ'ﬂ"mﬁhwﬁﬁéﬂg

165. Go-Bres Gremmmicg (TS o
(A) ity
(B) iz
(©) eny
(D) R

PIEas.e T“I"n Ove




ek~ ; ."'-':;':.. '. ;i,;‘
hel -"‘nfrr;a,fj@fﬂ\'&gﬁj&wm+
who won the DESLEE 4
o Tanl g
(A) Patty Jenkins
B) Ava Duyernay
ry Sofia Cop) pola

L=

) Jane Campion

1 ",J

Who won the l‘-’“h’hﬁ@mﬁﬂ R
o the English language category?
) Namita (@@iﬁtﬂ%
B) Khalid Hossain
C) Arundhati Roy

(D) 39 M7=

- 168. b T 4000 T (=117 190 Frz s
| I TR 1 30 A A 800 W 1 o7 g
) 250 days Bl ) 2sofr
B) 230 days '- (B) 230fm
) 200 days (C) 200

| 170 days

Ii spend the remaining food in how many

dNgoes | TeTEREE 2 e

5[ (A) 3,000 Gt
YTIN A o

2 (B) 4,000 Bt
| (©) 2,400 Bt
(D) 2,500 Gi<et

M



s Slammerin
(A) g
(B] Heﬂl‘ing
(©) Noige
D) Commotigp

gisto Spe
€C
ar 0 as Deafpeg i -

172 Wh-
3 1Ich of the f :
Bengal ¢ Tollowing districqg .
as the highest chilg SeX ratio il: ;51"‘1"{;’:31

(4) Darjeﬂling
(B) HDWrah
(C) K.Olkata
(D) Malda

173..Wh0 among the following Sultans
?rgamzed Igta, army, currency and other most
Important organs of Delhi Sultanate?
(A) Shamsuddin Iltutmish
(B) Giyasuddin Balban
(C) Muhammad bin Tughluq
(D) Alauddin Khilji

174. On which date the Indian Constitution was
adopted by the Constituent Assembly?

(A) August 15, 1947
(B) November 26, 1949
(C) January 26, 1950
(D) August 15, 1950

175. Match List-I with List-II:

List-I List-TI
(a) Moriyas 1% Pil_::-pz'xlwana
(b) Videhas 7, l‘vIthllllali
(c) Licchavis 5 Va1s,_ a .
Mallas 4. Kapilavas 1
) Which of the above isfare not properly
tched?
E A) (a1 (b-2), (c-3)
(B) (d-4)
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171. Stammering : Speech 271, Deafness : |
(A) Ear
(B) Hearing
(C) Noise
(D) Commotion

172. ﬁ‘ﬁﬁﬁ@'ﬁ'ﬁs‘ﬂmﬁ?ﬁrgﬂ\,ﬁmmﬂ@mﬁﬁ
2011 HiETa SR Sl o S
AT 2

(A) wife=
(B) =redl
(C) Tl
(D) STl

173. (@1 SeTol 2@, Fraddl, gzl AR
fifer FeTome TER FAHE wFes AP
(SITGI#IE - ?

(A) =i et
(B) forfoe qeas
(C) ==m R o=
(D) SEeiws fReifa

174. SIA0ST [ Fo i Frd swioifamm Tos
Rl 2fee?
(A) 152 =195, 1947
(B) 260 =%, 1949
(C) 260+ T, 1950
(D) 152 WisPB, 1950

175. R4 T 8 A-97 Tef T 8

AR5 A

(a) GRSt 1. HaERe

(b) fw=st 2. ffes

(c) femafasid 3. it

(d) Al 4, AR
%ﬁﬁf@mﬁammmﬂﬁ;@m%%?
(A) (a-1), (b-2), (c-3)
(B) (d-4)
(©) (c-3), (d-4)
(D) S#Taa A3

Please Tﬂrn o
r




e “Who ainong the following was associated
: eBardoh Satyagraha (1928)?

; ) Rajendra Prasad

(B) Vallabhbhai Patel

(C) Motilal Nehru

D) Jawaharlal Nehru

177. \u iere was Chauri Chaura?

£y & _:' ’E‘}*‘ a '\.'_e.}i" .rh:lr
among the Mughal princes
it _ -6 "'T"{ﬁ 41‘5{" j} i

B-34

176. RAFRSCH 0 CF TR Toatzg 1 g
o & TR0 ¢
(A) AlEE 2
(B) TEeSI2 AT
(C) Gifoele (72
(D) GEZFE (ZF

177. GG i ?
(A) =51
(B) 7S
(C)
(D) CoI=sfd

178. AAR6=eea T (&=l W2 ?
(A) 20
(B) 19
(€) 23
(D) 25

179. (19 AT W"M ‘E{Fﬁ TG TOT
aﬁtﬂﬁﬁﬂ?

(A) ATF
(B) @ifers
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186. Who among the following stated that there
was no slavery in India?
(A) Strabo
(B) Ptolemy
(C) Megasthenes
(D) Xuanzang (Hieun Tsang)

187. Which of the following countries won the
Thomas Cup International Badminton
Championship, 2022?

(A) Indonesia
(B) India
(C) Malaysia
(D) China

188. In which city, Australia will host the 2026
Commonwealth Games?

(A) Victoria
(B) Sydney
(C) Perth

(D) Brisbane

189. Who among the following was the Greek
king of Syria mentioned in Asokan edict?
(A) Antiochus II Theos
(B) Ptolemy II
(C) Antigonus
(D) Alexander

190. Fermentation ability of Yeast is due to
(A) Amylase

(B) Zymase

(C) Invertase

(D) Galactase
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186. Frste AfEwwa T (& ST W 22l (12
e TG FARE ?

(A) Il
(B) Beam

(C) stz
(D) TeaH e (e« 1e)

187. B3 @5 SIEEHIOF WCHAT, 2022
efrifarer i P Sl 23 2

(A) ZTHIGHE

(B) SR

(C) =Gt

(D) B

188. ST CHis *2CH 2026 TR T S
(oD SO 202

(A) feraf

(B) e

(C) AR

(D) faE

189. SCAITHd RS GRS A (6 9
TN e
(A) Soifoe 11 e
(B) ety 11
(C) SHifGeaiiei
(D) SiEFaeE

190. 2053 I (Fermentation) $9979 “wslold
Tel) Wi 28

(A) SSRGS
(B) wiRe®

(C) TCRGS
(D) UGS



191,

€ first g
calley IISt Sermop of Gautamg Buddha is

(A) Map abhinj
(B) Dhal'mach
(©)

shkraman

akra Pravartans,
Dhammaghos

(D) Mahapariniryana

192, The Non Coo '
= €ration
il P Programme was

(A) Lahore session

(B) Congress session at Nagpur

(C) Gujarat Congress

(D) Second Round Table Conference

193. Who among the Mughal Emperors/
Courtiers made arrangement for translation of
Ubpanisadas into Farsi?

(A) Babur
(B) Akbar
(C) Shah Jahan
(D) Dara Sukoh

194. Who wonthe Women’s Badminton Singles
title at Swiss Open, 20227

(A) Saina Nehwal

(B) P.V. Sindhu

(C) Carolina Marin

(D) B. Ongbamrungphan

195. The Eastern Ghats and the Western Ghats

et at -

(B) Palani Hills
(C) Nilgiri FHll

- SBP/22
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191, (Sew o <A 22T SO T 2
(A) wRfef g
(B) #foes 2
(C) A
(D) sEyeAfafaie

192. S7CAlel SCHEER s arel Bl =
(A) =R ST
(B) TG Tioio{H SR
(C) <GA0 LA
(D) TS coite G ore

193. I I 7/ Aer=feed Seifeaces A
S T
(A) <
(B) S
(C) A2 &=
(D) W= &

194. 2022-93 737 Groiq
SRS & Soifore 22
(A) 2! e
B) . fs. By
(©) Ficife oz

(D) . exa=E oz

TR G TSR

195. 216 s<owe @ sffesagic
QAR FRNTH—

(A) I oo

(B) 57t s1<s

(©) Tefeif oefe

O i

(D) Annamalai Hills

(D) W s

Plea




" 196. Who is the first Law Officer of the
Government of India?

(A) Chief Justice of India

(B) Union Law Minister

(C) Attorney General of India
(D) Law Secretary

197. Which Chola king was known as
Arumolivarman before his coronation?

(A) Vira Rajendra
~ (B) Rajarajal
(C) Kulottunga I
- (D) None of them

Who among the following put forward the
famous Drain Theory?

A) Dadabhai Naoroji

) Surendranath Banerjea

Bal Gangadhar Tilak

ch Indian Architect has been conferred
1s Royal Gold Medal 202208

alkrishna Doshi
heila Sri Prakash

B-38

196. SIS HAPIE AL A A T2
(A) wrared 24 oEHfs
(B) P SeeTal
' (C) SETed SbH G
(D) w2 A

197. @ G e SfeEE S gt
i <o feeeia?

(A) T ATH

(B) 2 FErHIE

(C) AN PETGH

(D) SHHEA (PR 7

198. F5FiRewm T @ R [sfm ogb
S QAR 2
(A) WIS FeT&
(B) @G IS
(C) Cst=iTeTF=e (NI
(D) I FF foa1

199. @I SO 26 TS T =
(178 (0T, 2022 SFFIF (e TR ?
(A) IfeTg=e wh
(B) AeTt & epit
(C) Il A



